
https://www.pass4itsure.com/210-010.html
2024 Latest pass4itsure 210-010 PDF and VCE dumps Download

 

 

 

210-010Q&As

VCE Vblock™ Systems Deployment and Implementation - Core Exam

Pass VCE 210-010 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/210-010.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VCE Official
Exam Center

 

 

Latest 210-010 Dumps | 210-010 VCE Dumps | 210-010 Braindumps                                1 / 3

https://www.pass4itsure.com/210-010.html
https://www.pass4itsure.com/210-010.html
https://www.pass4itsure.com/210-010.html


https://www.pass4itsure.com/210-010.html
2024 Latest pass4itsure 210-010 PDF and VCE dumps Download

QUESTION 1

What are two primary reasons for using the Advanced Management Pod (AMP)? (Choose two.) 

A. disaster recovery 

B. monitoring 

C. out-of-band-management 

D. multi-tenancy 

Correct Answer: BC 

 

QUESTION 2

You deploy EMC Ionix UIM/P in a Vblock System. 

Which two prerequisites must be met before proceeding with deployment of the appliance? (Choose two.) 

A. vCenter Host Profiles configured 

B. static IP from the logical configuration survey 

C. EMC Ionix UIM/P OVF 

D. DHCP server 

Correct Answer: BC 

 

QUESTION 3

You are asked to deploy a base configuration Vblock System 320. 

How many Cisco UCS blades will be installed? 

A. 2 

B. 4 

C. 8 

D. 16 

Correct Answer: B 

 

QUESTION 4

VCE Vision Intelligent Operations has been installed on a customer\\'s Vblock System. 
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Which two parameters would be selected within the configureSNMP command? (Choose two.) 

A. delete trap target 

B. sysContact 

C. add v1/v2c trap target 

D. sysLocation 

Correct Answer: AC 

 

QUESTION 5

You are required to setup the network interface on a Vblock System 320 storage array, which is used for file level
access. 

In which mode should the interface be configured? 

A. fail safe networking 

B. link aggregation 

C. Ethernet channel 

D. network trunking 

Correct Answer: B 
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